
A

Number at Risk
Age (Years) 0 1 2 3 4 5 6 7 8

Sβ0 16 13 11 6 4 3 2 2 1
SS 361 276 193 151 114 75 49 23 1
SC 160 132 112 94 73 47 30 11 1
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p < 0.001

Number at Risk
Age (Years) 0 1 2 3 4 5 6 7 8

Sβ0 16 14 11 7 6 4 3 2 1
SS 361 281 204 160 121 79 51 23 1
SC 160 132 113 95 73 47 30 11 1
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p < 0.001

B

Number at Risk
Age (Years) 0 1 2 3 4 5 6 7 8

Sβ0 16 13 13 10 9 7 4 2 1
SS 361 298 240 196 152 100 70 33 1
SC 160 132 113 95 73 47 30 11 1
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C

p = 0.002

Number at Risk
Age (Years) 0 1 2 3 4 5 6 7 8

Sβ0 16 14 13 9 9 7 4 3 1
SS 361 298 240 196 152 100 70 33 1
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